EB-2022-0013 : 1 : Shelley Grice

<u></u>		
COST CLAIM NUMBER 994	SUBMISSION DEADLINE DATE December 12, 2022	CLAIM STATUS Approved by Finance
EB# EB-2022-0013: Rates: Distribution: Alectra Utilities Corporation	OTHER EB#S	PHASE #* 1
INTERVENOR Grice, Shelley; +1 (647) 880-9942 shelley.grice@rogers.com	INTERVENOR COMPANY* Association of Major Power Consumers in Ontario, Toronto: Institution	INTERVENOR TYPE Full Registrant
HST RATE ONTARIO 13.00	EXCHANGE RATE	COUNTRY
HST NUMBER R137667424	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE

PARTICIPANTS

	OFANTS		Participant
New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$) Claim Status
No	,	Grice, Shelley; +1 (647) 880-9942 shelley.grice@rogers.com	12,585.39 Submitted

ATTACHMENTS

	Attachment		Document	Claim	Import
Attachment	Date F	Participant	Туре	Туре	Message
AMPCO EB-2022-0013 Cost Claim 121220221756.pdf					
TOTAL LEGAL/CONSULTANT/OTHER FEES 11,137.50	TOTAL DISBURSE 0.	EMENTS .00			TOTAL HST 1,447.89
TOTAL CLAIM 12,585.39	TOTAL AMOUNT A	AWARDED			
REASON FOR DISALLOWANCE	REASON FOR DISALLOWANCE -	- 2			ON FOR OWANCE - 3
MAKE CHEQUE PAYABLE TO Association of Major Power Consumers In Ontario					
SEND PAYMENT TO ADDRESS				ATTEN	-
65 Queen St W				Fareed	a Heeralal

65 Queen St W Fareeda Suite 1510 Toronto, ON M5H 2M5 SUBMIT SECTION I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs

incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Shelley Grice DATE SUBMITTED December 12, 2022

January 02, 2023

Shelley Grice

Shelley Grice							ANT
CASE EB-2022-0013: Rates: Distribution: Alectra Utilities Corporation	COST CLAIM EB-2022-0013 :	1 : Shelley Grice	Grice, She	INTERVENOR NAME Grice, Shelley; +1 (647) 880-9942 shelley.grice@rogers.com		CLAIM STATUS Submitted	
FILING PARTICIPANT Grice, Shelley; +1 (647) 880-99 shelley.grice@rogers.com	42	NEW PARTICIPA No	NON-FIL NT PARTICI	ING PANT F. NAM	IE	NON-FILING PARTICIPANT	L. NAME
SERVICE PROVIDER TYPE Consultant	YEA	R CALLED TO B	PRA	IPLETED YE/ CTICING/YE/ EVANT EXPE	ARS OF	HOURL	Y RATE 330
CV STATUS (FOR					27	HST	RATE
CONSULTANT/ANALYST)		T CV DATE				CHA	RGED
CV Provided within Previous 24 Months	Feb	ruary 16, 2022					13.00
HEARINGS Yes	COI No	NSULTATIONS	DISI No	BURSEMENT	S		
HEARINGS							
<u>Name</u>		<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	Tota
Review Application and Evide Review Application and		3.00	330	990.00	13.00) 128.70	1,118.7
Discovery		10.5-	000	4 070 50	10.00		
Preparation of Interroga		13.25	330	4,372.50	13.00		4,940.9
Review Interrogatory Re	esponses	3.25	330	1,072.50	13.00) 139.43	1,211.9

Name	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence						
Review Application and Evidence	3.00	330	990.00	13.00	128.70	1,118.70
Discovery						
Preparation of Interrogatories	13.25	330	4,372.50	13.00	568.43	4,940.93
Review Interrogatory Responses	3.25	330	1,072.50	13.00	139.43	1,211.93
Technical Conference Preparation		330		13.00		
Technical Conference Attendance		330		13.00		
Technical Conference Follow Up		330		13.00		
Issues List						
Preparation		330		13.00		
Attendance at Issues Conference		330		13.00		
Intervenor Evidence						
Preparation		330		13.00		
Interrogatory Responses		330		13.00		
Preparation of Witness(es) for Attendance		330		13.00		
at Hearing						
Settlement Conference / ADR						
Preparation		330		13.00		
Attendance		330		13.00		
Preparation of Settlement Proposal		330		13.00		
Attendance at Presentation to Panel		330		13.00		
Oral Hearing						
Preparation		330		13.00		
Attendance at Oral Hearing		330		13.00		
Submissions						
Written Submissions	13.75	330	4,537.50	13.00	589.88	5,127.38
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
Other Attendance						
Other Attendance		330		13.00		
Communication						
With Client		330		13.00		
With Other Parties		330		13.00		
Motions						
Preparation of Motion(s) Materials		330		13.00		
Prepare Submissions on the Motion(s)		330		13.00		
Attendance at Hearing on Motion(s)		330		13.00		
Confidentiality						

Preparation of Application for		330		13.00		
Confidentiality						
Prepare Submissions on Confidentiality		330		13.00		
Attendance at Hearing on Confidentiality		330		13.00		
Decision						
Review	0.50	330	165.00	13.00	21.45	186.45
Rate Order						
Review		330		13.00		
Prepare Submission on Rate Order		330		13.00		
Total Service Provider Fees						
Total Service Provider Fees:			11,137.50		1,447.89	12,585.39

Import Message

Attachments

Attachmen	t

AMPCO_CVR_LTR_CC.pdf AMPCO Invoice_A2213_Alectra.pdf AMPCO_2213_SGTime_Alectra_0013.pdf Document Type Cover Letter Invoice Time Docket

Hearings, Consultations, Disbursements Attachments

		Desument		
		<u>Document</u>		
Attachment	Related Disbursement Claim	<u>Type</u>	Claim Type	<u>Import Message</u>
AMPCO_CVR_LTR_		Cover Letter	Hearings	
CC.pdf				
AMPCO		Invoice	Hearings	
Invoice_A2213_Alec				
tra.pdf				
AMPCO_2213_SGTi		Time Docke	Hearings	
me_Alectra_0013.pd				
£				

f

Shelley Grice			
PROJECT TIME	SHEET	DATE	INVOICE
EB-2022-0013		2022-12-09	#A22-13
Alectra Utilities Co	prporation - ICM		
PROJECT TIME SHE	ET		
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2022-06-19	Review Application & Evidence; Prepare notes; Prepare Letter of Intervention; advise client	Review Application & Evidence	1.00
2022-07-06	Review Application & Evidence	Review Application & Evidence	2.00
2022-07-08	Review & consider application; Review previous applications/OEB Decisions; Prepare interrogatories	Preparation of Interrogatories	1.75
2022-07-10	Review & consider evidence; Prepare interrogatories	Preparation of Interrogatories	5.50
2022-07-11	Review & consider evidence; Prepare interrogatories	Preparation of Interrogatories	6.00
2022-08-22	Review & consider interrogatory responses; emails	Review Interrogatory Responses	3.25
2022-08-22	Review & consider evidence; Prepare written submissions	Written Submissions	3.25
2022-08-23	Review & consider evidence; Undertake Analysis; Prepare written submissions; emails	Written Submissions	6.75
2022-08-24	Review & consider evidence; Prepare written submissions	Written Submissions	3.75
2022-11-18	Review Decision & email client	Decision Review	0.50
TOTAL			33.75



December 9, 2022

Ms. Nancy Marconi Registrar Ontario Energy Board 2300 Yonge Street P.O. Box 2319 Toronto, ON M4P 1E4

Re: Alectra Utilities Corporation – ICM Application AMPCO Cost Claim Board File No. EB-2022-0013

Dear Ms. Marconi:

Attached please find AMPCO's cost claim in the above proceeding.

Please do not hesitate to contact me if you have any questions or require further information.

Best Regards,

alde

Colin Anderson President

Copy to: Alectra Utilities Corporation

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5

INVOICE # A2213

December 12, 2022

AMPCO Thomson Building 65 Queen Street West, Suite 1510 Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re:

EB-2022-0013 Alectra Utilities Corporation 2023 & 2024 ICM

Description	Charge Type	Hours	Rate	Amount
Professional Services of	Review application &			
Shelley Grice	evidence	3.00	\$330.00	\$990.00
	Prepare Interrogatories	13.25	\$330.00	\$4,372.50
	Review Interrogatories	3.25	\$330.00	\$1,072.50
	Submissions	13.75	\$330.00	\$4,537.50
	Decision Review	0.50	\$330.00	\$165.00
Sub-Total				\$11,137.50
HST on Services				\$1,447.88
Disbursements				
HST on Disbursements				
GST # 817042757RT000 ²	1	33.75	TOTAL	\$12,585.38

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shellygice

Shelley Grice, P. Eng.